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SA: BAS MDY
Hu: 824 92 IR (2A/2AAR)
ol B2 ORAM EHE CRR-L!
_ _ SIEN
A -3 -H2A(SH) - HEAMY - BES O AF K 'oﬂ/'\_WH Hlws2
01 AtR2elyl 33,000 0 33,000
OZESBAYAN N2 DT 27,000
s 13,500
= 13,500
ORZEAIIZ M2 DT 6,000
s 3,000
= 3,000
308 RHXICHHISOIA 7,500 0 7,500
01 MXCSHIAEED 7,500 0 7,500
OMEHSQH AN 7,500
Ngo|22 BN S 8,000 1,797,745 A1,779,745
201 Lor2y| 5,000 5,000 0
01 At22lHl 5,000 5,000 0
OYAEHAE 29 5,000
202 01| 3,000 13,865 865
01 =L§0fHl 13,000 13,865 865
OO L X = 6,000
OFIISIHAAN L 22X E 7,000
SOESA S 0FAE(2]) 8,329,260 5,865,680 2,463,580
= 6,663,408
= 1,665,852
403 XSS KH=0|H 8,329,260 5,865,680 2,463,580
= 6,663,408
= 1,665,852
01 UXSANZSE 8,329,260 5,865,680 2,463,580
Os0E ABAHIA e K& 8,329,260
= 6,663,408
= 1,665,852
LOIBARME A (2D) 1,760,400 3,514,000 A 1,753,600
= 1,467,000
= 293,400
402 QIO 1,760,400 3,514,000 A 1,753,600
= 1,467,000
= 293,400




SA
X XH .
(=

chel:

SN EH O (3H) - HRAY - B Ao gggf; HRS2
01 QI2tX=2E X 1,760,400 3,514,000 A 1,753,600
oL AHo S HH 1,760,400
2 1,467,000
o= 293,400
H2lolgs AHE(=210) 4,000,000 4,000,000 0
= 4,000,000
402 QIZHXE0| A 4,000,000 4,000,000 0
= 4,000,000
01 oI2tEEX 4,000,000 4,000,000 0
Oeo|d&d HE 4,000,000
= 4,000,000
St RESXJAE HE 300,300 0 300,300
= 200,200
& 100, 100
403 ANXSHHSAE0H 300,300 0 300,300
= 200,200
= 100, 100
01 XAXESHMAESEEX 300,300 0 300,300
OstA M SSKEA 300,300
= 200,200
= 100, 100
28 LoNMEYER HE 4,400,000 0 4,400,000
401 Al&EHIZL204H] 4,400,000 0 4,400,000
01 Al&H| 4,052,000 0 4,052,000
OLQNEHRA HE 4,052,000
O Al 364,000
OAlI&H| 3,688,000
02 Ze2lbl 338,000 0 338,000
OLoNEYR HEH 338,000
03 Al S0bI 10,000 0 10,000
OLoNEYR HY 10,000
LEQ=H 2l2ael 600,000 0 600,000
306 =¢H= 600,000 0 600,000




S BEAH M
M BH - oF JuxN(BAH/E
Ce: EH - QB AL &=

¥
1o
fu

SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
01 &H= 600,000 0 600,000
oo =z&dl S 600,000
=2 9 AHIA HB(EAH/B2HAZ) 22,063,852 21,236,914 826,938
= 2,469,195
Dl 12,846,054
= 75,000
& 6,673,603
S2ASsHAH = 2,939,679 2,923,351 16,328
= 1,038,500
J| 1,303,476
= 597,703
Ols S2ASHE 22| 20,000 10,550 9,450
202 O4Hl 12,000 10,550 1,450
01 =2UWddI 12,000 10,550 1,450
O AUAA X=HA 4,000
ORE - 2 U= RSt 4,000
092 DI 4.000
307 QIZtoIA 8,000 0 8,000
02 OI2tHAEH X 8,000 0 8,000
onlss22A=ZHE 22l N3 8,000
X Y SSHX WE(=21D) 16,000 22,000 26,000
| 8,000
& 8,000
201 «BtEAH| 7,000 9,500 A 2,500
J| 3,500
= 3,500
01 ArR2t2|bl 7,000 9,500 A2,500
O+ ¥ SZ2HX n= 7,000
J| 3,500
o= 3,500
202 O] 1,500 2,000 AB00
| 750
& 750
01 =2WAbI 1,500 2,000 A500




SN RAS MY
HH: ZE2 JRAHA HB(2/22A02)
o9l SZASHA 75 (5 &2
_ _ HE T
SN B SRA(SIH) - MBAY - BAS 0l &k 24 0l ot o ClImEE
07X ¥ SSHA B8 1,500
p] 750
= 750
01 YszaZ 7,500 10,500 A3,000
| 3,750
S 3,750
10 BAAHIZAS 7,500 10,500 3,000
OFE ¥ SSHA 1S 7,500
ol 3,750
= 3,750
SZoBJI NYLHI2IY 29(27) 680,000 785,000 £105,000
| 680,000
307 eI2t0|H 680,000 785,000 A105,000
o] 680,000
02 LAANBE 680,000 785,000 105,000
OS29EJIY NALHIZIY 29 680,000
p] 680,000
SZASFBHE 2YH NY(21) 1,139,406 1,070,274 69, 132
o] 569,703
= 569,703
307 eI2t0lH 1,139,406 1,070,274 69, 132
| 569,703
= 569,703
02 PAANBE 1,139,406 1,070,274 69, 132
0Z2UEIBHH 2Y 1,139,406
p] 569, 703
= 569,703
SHZEEIIZ S2A NV (21) 438,500 400,000 38,500
= 438,500
308 XXIEHSOIH 340,000 400,000 160,000
= 340,000
01 KASHBLRES 340,000 400,000 60,000
oAbl Mg 340,000
2 340,000
403 TXIEHSKHE0IT 98,500 0 98,500
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SN PRASM
H: Hz=2 O ZAHA HZB(BAH/EHR)
£Hol: RS 9120/5 M2 (Er9): & 2)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OFMBAHMIXIRAC 2H 6,000
202 O4Hl 8,000 11,064 A 3,064
01 =2ZWodbl 8,000 11,064 N 3,064
OMASSE ZAANY N=EHB 2,000
oYz, FLAEAHAIE AE=EH 3,000
OSAEHAIM J=Xd ¥ & 3,000
2AXHE22Y 29 24,360 23,640 720
308 AXIEHSOIE 24,360 23,640 720
01 XXNHHBIAEZXZ 24,360 23,640 720
OEz)H¥SdY 9,360
OXIOH&HHl XI& 15,000
2403 29 5,000 4,400 600
201 LBrEAH| 5,000 4,400 600
01 AtR22id] 1,400 1,400 0
OR4dod 29 1,400
02 =324l 3,600 3,000 600
oO%E ¢ Mz ¢ 3,600
1015 2435 26,000 18,000 8,000
301 dE8AZ 6,000 6,000 0
01 A E&EE56= 6,000 6,000 0
OIS 2e| 6,000
307 QI2tolA 20,000 12,000 8,000
02 Izt AE X 20,000 12,000 8,000
oYl N3 29 20,000
2RAR0F LS X 10,000 10,000 0
307 QI2+0|H 10,000 10,000 0
04 OI2tSHAIE X 10,000 10,000 0
ORS00 d&Ua XA 10,000
NS HE 22l K& 160,000 0 160,000
D) 80,000
= 80,000
307 QIZ2tol A 160,000 0 160,000




SN BA M
M W2 RMHIA HB(2A/2AR)
cel: RSst o278 KB CEEED
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
307 QI2H0IF p 80,000
= 80,000
02 QIAHABE 160,000 0 160,000
OXALHME A 160,000
80,000
= 80,000
RETHOLE X Ol 2 b 495,322 0 495,322
308 XXISHASOIH 495,322 0 495,322
01 RXSHBHEES 495,322 0 495,322
OMILER o 2| 350,922
OXBEX Ayl 144,400
HASE 2TAY X 210,000 550,000 340,000
308 XHXISHASOIH 210,000 550,000 340,000
NI ERCES 210,000 550,000 340,000
OUMHTE AT 60,000
OBCIZE A 60,000
oFYHTE A 90,000
StMS2EE o 20| 12,000 30,000 A 18,000
307 QI2H0IF 2,000 30,000 A 18,000
02 QABAEZE 12,000 30,000 18,000
CEELIRE 12,000
WSR2t Ate) X 70,500 0 70,500
308 XX EHHSOIH 70,500 0 70,500
01 XASHMBLRES 70,500 0 70,500
OTIIE R 245 ALY 70,500
NELASTAIY Z7 247,000 120,000 127,000
307 QI2t0IF 108,000 120,000 A 12,000
02 NANEZE 108,000 120,000 A 12,000
ONERA=N N 108,000
402 QAXZ0IH 139,000 0 139,000
01 QIAXERZE 139,000 0 139,000
OATTY 139,000
SATAAY K2 60,000 231,000 A171,000




SN PRASM
M =2 2= NUIA MB3(BH/BAHAZ)
& S8 22013 M3 (ctel &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
308 AHXISH X SO0l& 60,000 231,000 A 171,000
01 RXSHNBHNEXZ 60,000 231,000 A 171,000
OMEL S R0t HE2ZA 60,000
OIAESSEA X225 (=210) 6,000 6,000 0
= 3,000
= 3,000
301 YotEAz 6,000 6,000 0
= 3,000
= 3,000
01 AMIE2HEESHZ3 6,000 6,000 0
Olt*===X N=2ES 6,000
= 3,000
& 3,000
AR Ols A 2e 154,955 66,885 88,070
| 119,196
& 35,759
308 AtXIHHSO0I& 154,955 66,885 88,070
| 119,196
= 35,759
01 XXHHILEXZ 154,955 66,885 88,070
O 4R - Ols A2 154,955
J| 119,196
< 35,759
AMMOIHE XI|XE (21D) 19,219 26,644 AT ,425
| 14,784
& 4,435
308 AtXIEH X SO0I& 19,219 26,644 AT,425
p] 14,784
[ 4,435
01 XXHNBINEXZ 19,219 26,644 AT,425
OX MOt H2f B2 A 19,219
J| 14,784
< 4,435
UME - HR0 ESLYLAIS XS (=) 1,449,500 890,484 559,016
J| 1,115,000




o 1t

M B
= SMHIA MBS (BH/B2H2AR)

M ze o
o9l @Sa o

213 H= (&2 &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
AME - IR0 ESZAAY X (=21) T 334,500

308 AXIEHXMISOIA 1,449,500 890,484 559,016
J| 1,115,000
== 334,500

01 XXNHMBIAEXZ 1,449,500 890,484 559,016
OYUAE L AKOF BEF5HY 22 1,449,500
J| 1,115,000
T 334,500

=8 EAsE ZEANY XK (=ZD) 290,300 14,300 276,000
J| 290,300

308 XXX SOIA 10,300 14,300 4,000
J| 10,300

01 AXSHHIABEZ 10,300 14,300 24,000
Ox=28 24sk ¢4EH| 10,300
J| 10,300

403 XXM SA201H 280,000 0 280,000
J| 280,000

01 XAXESHMA2EEX 280,000 0 280,000
oOsA5YU) X X 280,000
J| 280,000

XIOtENRII(=Z1) 100,649 113,871 N13,222
J| 77,422
== 23,227

308 AXISHHMSOIHA 100,649 113,871 N 13,222
J| 77,422
= 23,227

01 XXNHHBIAEXZ 100,649 113,871 N13,222
oOBAHA X0t=H 27| 100,649
J| 77,422
& 23,227

OIXEEANY XK (=21) 757,529 497,055 260,474
J| 591,998
== 165,531

308 AXIEHXSOIA 757,529 497,055 260,474
J| 591,998




SN RAS MY
M AEe R AMHIA HEB(22/22H02)
o9l: RSet 212718 M2 (el &2)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
308 RHXIEHHSOIH = 165,531
01 KXSHHAMBES 757,529 497,055 260,474
OO0l - Fojel X2 E 717,301
| 551,770
= 165,531
OLQSATE - ALY 22,178
p] 22,178
OLwQl - FOjl RAAY AIF 2L 18,050
ol 18,050
PYBAM HX NB(2D) 37,680 101,120 63,440
| 37,680
308 RXIEHHISOIH 17,600 20,800 A3,200
| 17,600
NG EEEREES 17,600 20,800 3,200
OTLEAME Hojl 22| 10,000
p] 10,000
OS43tn Fojots el 7,600
p] 7,600
403 THXISHSKH2O0IR 20,080 80,320 60,240
| 20,080
01 XXISHHAIERE 20,080 80,320 260,240
OTYLAN H3 2Y 20,080
p] 20,080
OISEAE BAEAALY N/(2D) 65,000 40, 114 24,886
| 50,000
= 15,000
308 RHXIEHHSOIH 65,000 40, 114 24,886
| 50,000
= 15,000
01 KNASHILZES 65,000 40, 114 24,886
OOLE - BAE FHAURAAY 65,000
p] 50,000
= 15,000
ADSHLHE 2 N (2 D) 233,540 248, 133 A14,598
| 179,646




SN PRASM

M =2 =2 AMUIA MB(BEH/BHYE)

&Rl @sg A=JlE M3 (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
dISAGHH 29 XA (22) S 53,894

308 NXIHHSOIH 233,540 248,138 214,598
| 179,646
= 53,894

01 AXSHHBLEXS 233,540 248,138 A 14,5098
ogEsaEHH 23 233,540
Il 179,646
< 53,894

BAEAHH 22 XA (JI2E) 144,000 595,500 A451,500

308 AHXIHXMSOIH 144,000 595,500 A451,500

01 XIXSHHBLEXES 144,000 595,500 451,500
(OFSE=gell= el a] 90,000
OXaMgE=Id 2 18,000
OE4ds Z20d 29 36,000

ANEZAI=H XN& (=) 386,989 439,383 Ab52,394
= 297,684
L= 89,305

308 NXIHHMSOIE 386,989 439,383 AD52,39%4
=2 297,684
& 89,305

01 XXSHHILAEXS 386,989 439,383 A52,394
OHMe=& A=t 386,989
= 297,684
= 89,305

AR - A0 =20 X2 (=1) 848,024 614,401 233,623
= 789,599
< 58,425

307 QIZt0IA 10,599 0 10,599
= 10,599

02 BltFAExX 10,599 0 10,599
C0l RIENSE 10,599
= 10,599

308 NXIHHSOIH 837,425 614,401 223,024
= 779,000




SN PRASM
Nu: BES oBAHIA MEB(22/2202)
&Rl @sg A=JlE M3 (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
308 NXIHHSOIH S 58,425
01 XXEHHBLEXS 837,425 614,401 223,024
Q&L - pldoF =<0/ XA 837,425
= 779,000
= 58,425
2sI ol2Hl N (=21) 1,375,662 1,045,548 330,114
Il 1,058,201
& 317,461
308 AHXIHMSOIH 1,375,662 1,045,548 330,114
Il 1,058,201
= 317,461
01 XIXSHHBLAEXS 1,375,662 1,045,548 330,114
Og& Xt 2=l 1,375,662
| 1,058,201
< 317,461
2 ZIHTA (=) 1,203,473 1,378,413 A174,940
| 925,748
& 277,725
308 AtXIHHMSOIH 1,203,473 1,378,413 A174,940
Il 925,748
= 277,725
01 XXSHHBLAEES 1,203,473 1,378,413 A 174,940
o XJ|IHA 1,203,473
Il 925,748
= 277,725
517 - HALHER 22 (R1) 1,719,510 1,829,890 110,380
| 1,322,700
& 396,810
308 AtXIHXMSOIH 1,719,510 1,829,890 A 110,380
Il 1,322,700
& 396,810
01 XXSHHBILAEXES 1,719,510 1,829,890 A 110,380
O35l - HXdES&X 2=l 1,719,510
Il 1,322,700
< 396,810




SH BAS MY
M =2 2= NUIA MB3(BH/BAHAZ)
& S8 22013 M3 (ctel &
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
S3EHZI& BEHAMY XA 150,000 150,000 0
= 75,000
= 75,000

403 XXM EX20IH 150,000 150,000 0
= 75,000
= 75,000

02 SJ|ZSOICHEHCHEHArS I 150,000 150,000 0
o322 IZIN& BHAMLY 150,000
& 75,000
== 75,000

2RQ2EX S AAHS AZAMBIAXIR (=) 100,000 100,000 0
= 70,000
= 30,000

403 XXM EX20IH 100,000 100,000 0
= 70,000
= 30,000

02 BI/2SOICHSHCHE AL I 100,000 100,000 0

OQA=02Z2X S AAHE A= MHIA X

& 100,000
= 70,000
& 30,000

JrII0e AZASA(=0) 15,132 30,342 A 15,210
| 11,640
& 3,492

308 XXIESHMSOIHE 15,132 30,342 A 15,210
Il 11,640
& 3,492

01 XXSHHBLAEXS 15,132 30,342 A 15,210
OER+%R2clY 15,132
| 11,640
& 3,492

XION ZIIEEAI (21D) 70,034 45,733 24,301
| 53,872
= 16,162

308 AtXIHHMSOI& 70,034 45,733 24,301




SN PRASM
M =2 2= NUIA MB3(BH/BAHAZ)
& S8 22013 M3 (el &)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
308 AHXISH X SO0l& | 53,872
< 16, 162
01 XXHHILEXZ 70,034 45,733 24,301
OXIf =J1&& 70,034
J| 53,872
& 16, 162
FUBEHEH 29 XNA(EEH) 495,625 0 495,625
| 381,250
= 114,375
308 AtXIEHHSO0I& 495,625 0 495,625
| 381,250
& 114,375
01 XXHHILEXZ 495,625 0 495,625
OFUNEHUH 2H(EEE) 495,625
J| 381,250
= 114,375
AN 2= SAtH & 20,000 0 20,000
307 gQiz2tol™ 20,000 0 20,000
02 QtFAE X 20,000 0 20,000
CQEAHN ZJAZSAMUA XA 20,000
MEIZ2HAE JIs B2 5,698 0 5,698
= 5,698
403 XXIEHMSAH20I& 5,698 0 5,698
2 5,608
01 XXSHHMIA2EE 5,698 0 5,698
OAEME K& 5,698
= 5,698
FTRES HE22 ALSA 5,374,774 6,970,395 A 1,595,621
= 86,044
| 3,937,019
& 1,351,711
OFE A |AZ2AALAE 2H 36,987 20,000 16,987
201 B2 9,000 20,000 A 11,000
01 At 2eld] 9,000 9,000 0




SN BA M
M W2 RMHIA HB(2A/2AR)
o9l ZQEE EFPRY AYSH (649 &2
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
CEEERTEIE)) 4,000
oneses 29 5,000
308 KHXISHHISOIH 27,987 0 27,987
01 XNASHMBLRES 27,987 0 27,987
OUNEE AABE AEY 27,987
SARB L LA e 90,000 87,000 3,000
308 XX SHHSOIH 90,000 87,000 3,000
01 RXSHHBLSES 90,000 87,000 3,000
oRzzzH| 86,400
OO B Al | 3,600
=0l AYSTAY =X (XHH) 190,000 260,000 A70,000
307 QI2H0IF 90,000 100,000 210,000
02 SINBNBZE 90,000 100,000 10,000
CETIEIETEF 81,000
OANME SF Y BEANY EE 9,000
402 QI XHZOIH 100,000 160,000 60,000
NEEEEES 100,000 160,000 160,000
ONSHE L HUYAAY 75 K& 100,000
NS5 HAMENNAAIS (2 D) 737,300 99,000 638,300
o] 551,000
= 186,300
201 greg| 5,000 10,000 A5,000
g 2,500
= 2,500
01 A2zl 5,000 10,000 25,000
OXSS3t ALSENHA 5,000
p] 2,500
= 2,500
202 01| 5,000 9,000 ~4,000
| 2,500
= 2,500
01 =Uoit] 5,000 9,000 A4,000
OXISSst A SEHHA 5,000




SA
X XH .
(=

chel:

S ED .S (80) - NRAY - H ok o S H| D=2t
0f & o8

J| 2,500
& 2,500

307 QI2t0IN 50,000 80,000 A 30,000
| 25,000
= 25,000

05 BIZIRIEZ 50,000 80,000 A 30,000
OALZTANANAE 2 50,000
| 25,000
= 25,000

308 XXIEHMSOIA 677,300 0 677,300
J| 521,000
& 156,300

01 XXEHHILEXZ 677,300 0 677,300
OXNLEES HZHENIHA XA 677,300
J| 521,000
& 156,300

BAA LY 2Y(=21) 886,800 20,000 866,800
| 680,000
& 206,800

201 LB29| 4,000 10,000 A6,000
J| 2,000
& 2,000

01 At=R2teldl 4,000 10,000 26,000
oZdEeld 29 4,000
J| 2,000
& 2,000

202 Oidl 4,000 10,000 26,000
| 2,000
= 2,000

01 =Wodl 4,000 10,000 6,000
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